( BH#H TAE Av/ii— Af )
R 294 7R 28 (H)
HDCP16.4%ET A

R i K £ ouTt IN GROSS | HDCP NET
*1| /A =K 37 34 71 | 49 | 66.1
*2| Hih FFB 41 41 82 | 145 | 675
*3 =H EB 41 40 81 | 13.4 | 676
* 4] HEER FEHE 40 40 80 | 10.8 | 69.2
*5 AEE H 40 40 80 | 10.8 | 69.2
6] FIL EX 41 42 83 | 13.3 | 69.7
*x7| i &k 40 40 80 | 9.9 [70.1
8| i FEEk 41 39 80 | 9.9 [70.1

of kT JiE 43 40 83 | 12.8 | 70.2
*10]  HH T+ 43 43 86 | 15.6 | 70.4
1| Hw Rk 43 40 83 [ 120 [ 71.0
12| KiFg & 33 42 75 | 36 | /1.4
13| HH BEA 45 42 87 | 155 | 715
14| EF BX 42 45 87 | 154 | 71.6
*15] 375t @A 42 37 79 | 6.8 | 72.2
16| Bl BB 45 49 87 | 146 | 72.4
17| K& FJA 43 38 81 78 | 732
18] AKH ; 44 42 86 | 12.0 | 74.0
19 N &E— 39 41 80 | 5.8 | 74.2
%20  fhHE fEEX 47 40 87 | 12.7 | 74.3
21 | EE 46 42 88 | 13.6 | 74.4
2] B B— 38 41 79 | 43 | 747
23] ki f 43 45 88 | 13.3 | 74.7
2] thEH B3¢ 44 46 90 | 14.9 | 75.1
%25 T A& 43 47 90 | 145 | 755
26| FA Ax 37 43 80 | 43 [ 7517
27| H/I| —EBR 41 47 88 | 12.3 | 75.7
28| =% FOAI 49 43 92 [ 16.1 | 75.9
29 T | 44 38 82 | 6.0 | 76.0
%30 £ =_ 45 46 91 [ 14.0 | 77.0
31 IEF%F EUA 46 | 46 | 92 | 14.6 | 71.4
32| Rk BE— 50 42 92 | 144 [ 776
33 =R 24 43 42 85 | 7.1 | 719
| AF #TH 42 46 88 | 9.9 [ 781
%35 PHEH fEpE 47 48 95 | 16.3 | 78.7
6] [IE 18§ 48 44 92 [ 13.0 [ 79.0
37| HE Z—Ef | 44 49 93 | 13.8 | 79.2
38| /NEFH EhiiE 46 43 89 | 91 [799
39| B 1Fs 46 49 95 | 15.1 | 79.9
*40| T —F 45 47 92 [ 12.0 [ 80.0
il Ik EER 44 52 96 | 15.6 | 80.4
42 H X% 47 50 97 [ 16.2 | 80.8
B EE Bl 40 47 87 | 55 | 815
M IwRE A 48 48 96 | 13.6 | 82.4
*45] I BF 49 43 92 | 95 [ 825
6] EJR HIA 45 49 94 [ 11.2 1828
47| P§  SEIL 47 52 99 | 15.4 | 83.6
48] KB = 53 47 1 100 [ 13.7 | 86.3




( A TRAE A/\— B )
R 29% 7R 28 (B)

HDCP16.5~k@HIIWPTHRH MY

| Kod K & ouTt IN GROSS HDCP NET
* 1=k =5 17 | 43 | 84 [ 278 [ 617
%2 Tk mik I | 44 | 85 [ 223 [ 627
* 3| A & 13 | 42 | 85 | 19.7 | 653
>4 fEE 5 16 | 46 | 90 | 246 | 654
* 5| $8E i 15 | 42 | 86 | 202 | 658
6 HE B 12 | 44 | 86 | 198 | 662
x| # = 13 | 45 | 88 | 186 | 694
8| mE Bk 16 | 47 | 93 [ 22.7 [ 703

o M mA 13 | 46 | 89 | 181 | 709
X0t - 16 | 46 | 92 | 205 | 715
11| Zemp B— 19 | 45 | 94 [ 225 [ 715
12| BIEF_ g 50 | 41 | 91 | 194 [ 716
13| Jiim T—B8 | 48 | 47 | 95 | 233 | 7.7
14| Jillg —== | 53 | 44 | 97 | 253 | /1.7
%15 F5f =E—B8 | 45 | 44 | 89 | 17.1 | /1.9
16| _ @i fars 51 | 39 | 90 | 181 | /1.9
17| 5§ 5} 17 | 54 | 101 | 291 [ 71.9
18] __#HE TRk 19 | 46 | 95 | 230 | 72.0
19| Ki¥ &% 51 | 44 | 95 | 228 | 722
*20| Bk 2 18 | 47 | 95 [ 225 | 725
21| ShE Rk 18 | 47 | 95 [ 224 [ 726
22| koK kg 16 | 48 | 94 | 21.0 [ 728
23| K fE— 18 | 44 | 92 [ 191 [ 729
24 B FBR | 46 | 45 | O1 | 18.0 | 73.0
*25] Al B— 50 | 48 | 98 | 244 | 736
26] KA ¥BS | 46 | 45 | O1 | 169 | 740
27| AiEl BE= 51 | 45 | 96 | 214 | /46
28|  Hm AH 18 | 45 | 93 [ 172 [ 158
29| hhtE BE 15 | 52 | 96 | 201 | 759
*30[  IUF a5 17 | 53 | 100 | 240 | 76.0
31 HE EA 50 | 50 | 100 | 24.0 | 76.0
32| %  FiE 19 | 44 | 93 | 168 | 762
33| Bk 3= | 54 | 52 | 106 | 29.5 | /65
34| A AF 51 | 49 | 100 | 23.4 | 76.6
#35| iy B 57 | 50 | 107 | 294 | 77.9
36| MO Bi= 50 | 50 | 100 | 215 | /85
37 B h— 13 | 42 | 85 | 60 | 79.0
38| HE == 51 | 53 | 104 | 248 | 792
39 B0 Az 51 | 49 | 100 | 20.7 | 79.3
x40 =% = 15 | 54 | 99 [ 19.0 | 80.0
4 =5 EF 50 | 49 | 99 | 18.8 | 802
42| T¥NEE #A— | 48 | 55 | 103 | 22.8 | 80.2
43 B B 54 | 50 | 104 | 23.0 | 81.0
4 T B 60 | 54 | 114 | 32.4 | 816
45 Ak BE 51 | 50 | 101 | 18.0 | 83.0
46 =1L sE— 50 | 54 | 104 | 19.7 | 84.3
47 [aH B 55 | 56 | 111 | 26.4 | 84.6
48] ZE miz 64 | 63 | 127 | 345 | 925
B =@ - - - - -
R Ak B= - - - - -




